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Classe de 4°¢

Exercice 1
Réduire, si possible, les expressions suivantes :
1. A= 22— (—x)

»2. B=41— (-81)
»3. C = —ax(-3)

4. D =—2x 6y?
»5. £ =—-322+4
»6. F=1x2a

Exercice 2
Réduire, si possible, les expressions suivantes :
1. A=—4y>x9

»2. B=-2x (-5¢?)
»3. C =—8t*—3¢t?

»4. D =322 x (-1)
»5. E = 322 + 222
»6. FF= -5z —(—9x)

Exercice 3
Réduire, si possible, les expressions suivantes :
1. A= 52— 1022

»2. B=—-T7Ty?>x 10
»3. C =2a%—3a?

»4. D=—-10y — 9y
»5. F=—-7x(—3x)
6. '=—-Tax3a

Exercice 4
Réduire, si possible, les expressions suivantes :
»4. D= -9z + 22

»5. E =9t — (—2¢%)
»6. F =227+ Ta?

1. A=—-10a> x (-1)
»2. B= 1022+ 102
»3. C=-10x (—6y?)

Exercice 5
Réduire, si possible, les expressions suivantes :
pl. A= —2?x2

»2. B=8y+3y
»3. C = —-10y? x (-2)

4. D=—-4y—4y
»5. E=9y>x 1
»6. F=6x—3x

Exercice 6
Réduire, si possible, les expressions suivantes :
1. A=—4a—6a

»2. B=3yx (-8y)
3. C=9x x1

»4. D =222 — (—92?)
»5. £ = —5y%+ 21>
»6. ' =10a> x 7
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G=—-6z2—4zx
H=ax4a
I=-10a%—6a?

G=T7t—-1

H =8z x10
I=-5t2x10
G=—-922%2+622

H = —42% x (-3)
I=-9y+8y

G=-2a>-7
H =10y x (—6y)
I=8t*x9

G =Ty*x (-8)
H=-3x%xT7a
I=9y> - (-2y)

G=-2yx(-5y)
H=-10t — (—6¢)
I=8a—(—-8a)
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